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Work 6 rows garter stitch, proceed as follows: 
 
1st row: Knit 
2nd row: Purl 
3rd row: K1 *p1, k1 rep from * to end. 
4th row: *P1, k1below, rep from * to last st, p1. (K1 below = knit into st below) 
 
The last four rows set pattern.     
 
Continue until you reach desired scarf length, leaving sufficient yarn to complete 
scarf with six rows of garter stitch.    
 
Cast off.  
 
The finished scarves will measure approximately 24cm wide by 160cm long using 
the entire 200g of yarn.  
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TEXTURED SCARF – 8ply 
 
You need approximately 5 x 50gm balls of 8ply yarn. 
 
Using 4mm needles, cast on 41 stitches 

 
 

TEXTURED SCARF – 10ply 
 
This scarf can be knitted with a 200 gram yarn-cake of 10ply yarn or  4 x 50gm 
balls of 10ply yarn. 
 
Using 5.5mm needles, cast on 39 stitches 
 
 


